[ea1uyoa)

NYSsa|l) Jejiwis 39S

'ane,t//:dnqucgmeo;u

q-ny |

E
g
=
o
Q
=
Q.
Q
w
2
@
o
2
o
T
_|
<

ap-uleg-ny 1|agtey)//.dny Jo sp'ul

Ritp://farbe i tu-berlin.de/BEVE/BEVEL ONP.PDF /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

IECSRGBuS8 triangle lightnesst*

t* Yoc=Yw - nc=100,

t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y,/ 100<Y<=Y, o)
t*\(3,6)=18,t* ,(18)=50,t*\y,(90)=137

007136, 7Ly=16, 11,—1/1 6=0,62
%15=50,00 §=50,00 D;==0,
t#3,6=18,24,t1,=50 oo =18

IECSRGBu8

tristimulus value difference

YoemYw  nc=100,
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
log(dY) = (1/1,6) log[1,6¢,/50)] + [1~(1/1,6)] logY)

*,=50, dY,=3,20Q dY,/Y,=0, 1777

av320' Zoo 00 application
dY; 61,7/, range

1Y,=18
V=90

log (AY/Y) IECSRGBU8
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y,/ 100<Y<=Y, o)
log(dY/Y)= log[1,6(Y,/50)] - (1/1,6) log{/Y,,)

= (1/1,6) log[L,6¢,/50)] - (1/1,6) log¥)

(dY/Yy5=0,0650y=1,6, 1§~1/

(dY/Y)g=0,1777 §,=50,0Q D,=-b,00

(dY/Y} 0,485 Y,=18, dY=3, 20
'v,=18

YN=3,6 1 Y90 .

IECSRGBu8
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= - log[1,6(/,/50)] + (1/1,6) log{/Y,)
- (1/1,6) log[1,6(,/50)] + (1/1,6)Jog¥)
!

t*,=50, d¥,=3,20 Y,/dY,=5

1
(Y/dYps=15,38,y=1,6, 1§¥=1/1,650,62
(Y/dY)g=5,62 §,=50,00 D,=-0,Q0  application
(Y/dY} ¢=2,06 Y,=18, dY;=3,20 y range
1Y,=18
Ya=3.6  Yyw=90

IECsRGBuUS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t1EcsreBug=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
1 (3,6)=18 t* ,(18)=50,t*y(90)=137

tgg/t* =2,73,y=1,6, 1x/—1/1 6=0,62
t*1g/t*,=1,00 250,00 D, 0
t*3,¢t*,=0,36,4,=50,00 =18

log[t*/t* ]=0, m,=0,62

log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference

i YocmYw - nc=100,
t*1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/1,6)] log¥/Y,,)

dYeo/dY,=1,82,y=1,6, 14=1/1,6=0,62
dY;g/dY,=1,00 $,50,00 D,=-0,00
dYs,¢dY,=0,54 Y,=18 dY=3,20

log [(AY/Y) 1 AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
logl(dYMN)/(AY/Y),] = - (1/1,6) logl/Y,)

(AY/Y)o/(dY/Y)=0,36,y=1,6, 1y=1/1,6=0,62
ggi}zldl(’(a‘;/Yk ZO%S‘ =50,0Q D,=-0,00
N X‘ i G 3, 20applu:ation
.-.'. nge
10g[(dY/YY(dY/Y),]=0, m,==0,3>
t+,=50, dY,=3,20 dY,/Y,=0,1777

#..
4

1
1
1
1Y,=18
YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY),] IECSRGBUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,)

(Y/dYyo/(Y/dY)=2,73,y=1,6, 14=1/1,6=0,62

(Y/dYYg/(Y/dY)=1,00 §=50,00 D;=-0,00

(VIdY)y ¢/(Y/dY)=0,36 Y,=18 dY=3,20 |
b

1og[(Y/dY)(Y/dY),]=0, m,=0.FZ

application
1 range

1y,=18
VNE3601 Y =90 T,

IECSRGBUuS8 triangle lightnessT*

T+ Yoc=L*w - nc=100

T*IEcsraBug=50 (Y/Y) M 6(Y,=18, Y, /100<Y<=Y,0)
T4\ (3,6)=18,T* ,(18)=50,T* (90)=137

=136,71y=1,6, 14=1/1,6=0,62
T*18—50 00 $=50,00 D,=-0,00
T*3,=18,24,1%,=50,00 Y=18

1

1Y, =18
MN=3,671 Yy =00 T
BEV80-1A

logAY) IECSRGBu8

AY tristimulus value difference
Yo=L*w  ne=100,

T* lEcsraBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y, o)

log(dY) = (1/1,6) log[1,6¢,/50)] + [1~(1/1,6)] logY)

*,=50, dY,=3,20Q dY,/Y,=0,1777 _—
, =

dYe(=5.85,y=1 =, 1%-1/1,6=0,64
dY;g=3,20 S-5u 00 D;=-0,00 , application
dY; 61,74 Y,=18, dY= 3,20 | range
1Y,=18
MN=3,600 Y =00 T

BEV80-3A

log AY/Y) IECSRGBu8

tristimulus value sensitivi
S=@BYY) Yo=*w - :nc=100. 4

nc’
T* |EcsreBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y,o)
log(dY/Y)= log[1,6(Y,/50)] - (1/1,6) log{/Y,,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) log¥)

* =50, dY,=3,20 dY,/Y,=0,17:7
(leY))o—O 0650y=1,6, 1§=1/1,
(dY/Y)g=0,1777 §,50,0Q D, o
(dY/Y}6=0,485Q Y,=18, dY=3, 20
'v,=18

YN=3,6 1 Yg=90 .

BEV80-5A

log (Y/AY) IECSRGBu8

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T* |EcsreBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= — log[1,6(/,/50)] + (1/1,6) log¥/Y,)
- (1/1,6) log[1,6Y,,/50)] + (1/1,6)4ogY)
o
T*,=50, dY,=3.20 Y,/dY,=5

(Y/leg—S 62 51 Q —0 00 application
(Y/dY} 6=2,06 Y,=18, dY; 3,2 1 range
1Y,=18

BEV80-7A

BEV80-7N

TUB-test chart BEV8; IECSRGBu& & T* for Y/Y, with additional dataYnc=
Absolute and relative lightness, sensitivity and cont&st0,00,

THT* IECSRGBuS relative triangle lightnessT*/T*
THT*, Yoc=L*w - nc=100,

T*Ecsrapus=50 (Y/Y) ' O(Y,=18, Y, /100<Y<=Y, )
T4\ (3,6)=18.T* (18)=50,T* (90)=137

T*9o/T*,=2,73,y=1,6, 14=1/1,6=0,62

T*19T%,=1,0Q §=50,00 D;=-0,00

T*3,dT*,~0,36,1%,=50,0Q Y18
log[T*/T*,]=0, m;=0,62

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEV80-2A

log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference
u Yoe=L*w - ¢ - n=100,
T* Ecsrapus=50 (YY) M O(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/1,6)] loglY/Y,)

dYeo/dY,=1,82,y=1,6, 14=1/1,60,62
dY;g/dY,=1,00 $,50,00 D,=-0,00
dYs,¢dY,=0,54 Y,=18 dY=3,20

3,20 dY,/Y,=0,1777 .
=5
log[(dY)(dY),]=0, m=0,32 =~

1
1y,=18
NN=3601 Y =90 T

application
range

BEVB0-4A
log [(AY/Y) | (AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* Ecsrapus=50 (YY) M O(Y,=18, Y, /100<Y<=Y, )
logl(dYM)(AY/Y),] = - (1/1,6) logl/Y,)

(dY/Yyo/(dY/Y)=0, , 14=1/1,6=0,62

(dY/Y)g/(dYN =2 oq D,=-0,00

(dYIYy (AYIY 3= 8 dY=3, 20appli T
range

log[(dY/YY(dY/Y),]=0, m/=-0,6=
T+,=50, dY,=3,20 dY,/Y,=0,1777

100y

YR=3.67 =90 T

BEVB0-6A
log [(Y/AY) I (YIAY),] IECSRGBUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T* Ecsrapus=50 (Y/Y) 1 O(Y,=18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,,)

(Y/dYbOI(Y/dY), 2, 73 Tl,ﬁ 1xr1/1 6=0,62
(Y/dYYg/(Y/dY)= ,00 D=-0,00
(YIdYY J(YIdY o 36 Yu 18, dY=3,20

f

log[(Y/dY)(Y/d¥)J=0, m=062 ~ _+*

application
- range

1y,=18
NNE3601 Ya =90 T

.
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